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QUESTION 1

Exhibit:

Label A, B and C.

A. A-Power Rail, B-Nodes and C-Cube Switches

B. A-Power Source, B-Cube Switches and C-Nodes

C. A-Power Source, B-Automatic Transfer Switch and C-Nodes
D. A-Power Brakers, B-Automatic Transfer Switch and C-Nodes

Correct Answer: A

QUESTION 2

What is node regeneration timeout?

A. Regeneration log

B. If regenerations fail, a dbinit will start

C. Centrastar will restart on a node if it is offline for a specified amount of time



D. Regenerations start on a node that has been offline for a specified amount of time

Correct Answer: D

QUESTION 3

Where does audit logging place information?

A. AuditArchive system pool

B. ConsolArchive system pool

C. C-Clip in the AuditArchive system pool

D. C-Clip in the AuditArchive Default Cluster pool

Correct Answer: C

QUESTION 4

What is the Centera Universal Access (CUA)?

A. NAS solution that allows all users to access the Centera archive

B. Hardware appliance that allows the user to create reports from the information stored on the Centera

C. Networked software solution that allows access to the Centera archive by non-integrated applications

D. Networked software solution that allows the user to create reports from the information stored on the Centera

Correct Answer: C

QUESTION 5

Which process is used to free up disk space on the CUA?
A. sfsproxy

B. Filearchiver

C. Block Reclamation

D. Alter File Protection

Correct Answer: C

QUESTION 6



A CE issued a command "Set Protection Write Mirror OK". What is the end result of this command?
A. This command will fail

B. This command will use default CPP size of 250K

C. Any data written to cluster will be stored as CPP, regardless of size

D. Any data written to cluster will be stored as CPM, regardless of size

Correct Answer: D

QUESTION 7

CUA 3.5 received a 70K, 100K, 150K and 300K files. Which one will be stored as embedded Blob?
A. 70K

B. 100K

C. 150K

D. 300K

Correct Answer: A

QUESTION 8

Which types of cable is used to connect the Centera Access Nodes to the customer\\'s network?
A. Twisted Pair and Fiber Optic

B. Thin Coaxial and Fiber Copper

C. Thick Coaxial and Twisted Pair

D. Single Twisted Pair and Fiber Optic

Correct Answer: A

QUESTION 9

A CE is at a customer site and Kickstarts the Centera with the address 10.255. The CCRF states that the internal
network should be set to 172.19. What does the CE do to correct this address?

A. Proceed with installation

B. Call EMC support center



C. Send the Centera back to the factory
D. Try to kickstart the Centera again with the correct IP address

Correct Answer: B

QUESTION 10

What is default data protection scheme?
A. Meta

B. Parity

C. Mirror

D. Stripe

Correct Answer: C

QUESTION 11

Which Compliance Edition does NOT allow remote management?
A. Basic

B. Governance

C. Compliance Edition

D. Compliance Edition+

Correct Answer: D

QUESTION 12

A CE is out in the field doing a Gen4 install, and notices that there are too many or too few nodes. What are the possible
node configurations for a single Gen4 cube?

A.4,8,12,16
B. 4, 8, 16, 32
C.8,12,16, 24
D. 8, 12, 16, 32

Correct Answer: A
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